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gooocOooooooopoo»—QooOooooOooOoooooOoOocOooooooooooOoOoooO
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e JO0O0ODDOOOO vidOODOOOOOODODO
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#include <stdio.h>

EYEOE HO® &FD; 0K =
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RYEDEEZ fugafuga(5IEHDE &HD;
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/
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int main(void)

{
X
a = hogehoge (RBIH); < | EROHUHL |
}
A
RYMEDE!% hogehoge (BIENDE! {R5151%8){ ”
I
X
>, oo e
b=fugafuga(E5|1#); «— EEIZ?H:)LH @
return = ;
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000000000000000
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oboooboooobooooboooooboooooboooo 200000000

e :JI0J0I0IUID0OUIODUOUODOOD yODOOODOOUDOOUODOOOO (x,y)D00D0OO—0O0O0O
oooo—oogooo
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2.1.1 OO0OO0O0OO0OO0OO0ODOO

00000000 0O (1)U 2.00000000C00000y000ODO0OOO0—0OU0O0O0ODOOOOOOO
OO00D0O00O00 10 hogehoge() U0 OOOOOODOOOODODOODOODODO
obooboobboobboz0y0O000D0DOO0OODOOOOOODOOOOOOOOOOOODOO
0O [1]0 0000000000000 0O00U0CO0O00O00O000000D00OO0o0DOOooOUUOooo
0000000000 0o00O0UdoooO()0o0o00o0oo0oo0o0Uooooo(2)Duoooooo
00@3)0000o000o0@)o0o000D000D—000D00D000000DDOD0U0DDUO0OU 100
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e 1000 FILE *out; 00000000000 obooddd=owt 00 oooooooogo
O00'00000outO fugafuga 00 0000000000000 000O0D0O0DOODOOO (%O
ooooog

¢ 2300 out=fopen(’data.txt”,”w”); 000002000000 000000data.txtD
0000000OwODOOOOOOO0O0O0O000000000000000000000000000
ODOfopen() 000000000000 O0O0O0OOOOOOOODOOOOO

e 2300 fprintf(out, ”%f\t%f\n”, x, hogehoge(x)); 00000000000 DOOOO
0000000 fprintf O D00 OO 0000000000 printf) 000000000 O0DOO
0000000000000 0000000D000000—-0000000

e 2300 fclose(out); gboobobooobgoboobooboobuooaboooobooon

0000000000 0000000000000 80
200000000000000000000



O~ Utk WN -

000 1. 00000 «cO0y0OOOOO0OOOOO0O0O0O0OOOO0O0OOOO0

#include <stdio.h>

double hogehoge (double x); // 00000000

int main(void){

FILE xout; // 0000000000
int i, np;
double x, dx, xmax, xmin;

printf (?x0 000 \t”); // 0000000
scanf ("%1f” , &xmin);

printf (?x00 00 \t”);

scanf ("%1f” , &xmax);

printf(?0000000\t”);

scanf ("%d” , &np);

dx = (xmax — xmin)/np; //0000000
out=fopen (”data.txt” ,”w”); //000000000
for (i=0; i<=np; i++){

x = xmin 4+ ixdx;

fprintf (out, ”"%f\t%f\n”, x, hogehoge(x)); //00000000
fclose (out); //000000000

return 0;

double hogehoge (double x){
double y;

y=(3xx+2)/(x+2);

return y;

}

o000 OOoooboooOobooooboooboobOoooooobon

xdooo -20
xO00O0O0O 20
ooooogno 10000

O000000000000D000 data.txt0O00 000 emacs data.txt000 0000000000
0000000000000000000000 2000000 yOOOOOO1000100 (z,y)0000O
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0000000000 (datatxt) 00O

-20.000000 3.222222
-19.996000 3.222272
-19.992000 3.222321
-19.988000 3.222370
-19.984000 3.222420
-19.980000 3.222469
-19.976000 3.222519
-19.972000 3.222568
-19.968000 3.222618
-19.964000 3.222668
-19.960000 3.222717
-19.956000 3.222767
-19.952000 3.222816
-19.948000 3.222866
-19.944000 3.222916

gooooooooooono

19.980000 2.818016
19.984000 2.818049
19.988000 2.818083
19.992000 2.818116
19.996000 2.818149
20.000000 2.818182

2.1.2 00000000

00000 (2,y)00000000000000000000000000000000000OCOO0
00000000000 000000000000000000000 ExelDODOOOOOODOOODO
000000000 guuplot? 000000000

gnuplot 10000000 000000000 (2,y)000002000000000000000000
00000000000000000000000000%$0 gnuplot>0 0000000

gnuplot D OO0 0OOO0OOOO

$ gnuplot
gnuplot> plot [-20:20] [-50:50] "data.txt" with line

O000Ognuplot 0000000000 000O0D0O00000DO0OO gnuplot>d000O00DO O Ognuplot
ooooooboooobOooboooooooobooooooobOOplotd00O0O0O0D0O00OO0OplotOO
ooobooooboobgo

e [-20:20] [-50:50]00x0 y0O00000O00O0D0O0OO0O 200000 y00000O
e "data.txt"OD OO ODOOOOOOOOOOOOOODOOOOO
e with lineJ U0 00000000000 OO0O0O0OODOO

0000000000000 O0Ob0000000O000C0Ognuplot0 00000000000 0000 exitO
ooooooo
00D0000000000000000000000000000000000000000000000000
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y = (2® + Vx + 2 +sinx + cosz)(2® — Vasine — 2z — sinx + 4 cos )

2?2+ /T +x +sinx + cosx + tanzx

+
22 —Vxsinx — 2z —sinx +4cosx + tanx

goodgbbobooooooboobg

f(z) + tanzx
g(x) + tanx

f(z) =2+ x4z +sinz 4 cosz

g(x) = 2* —Vasinz — 2z —sinz + 4cos

y = fz)g(z) +

googoooobooobooooooo goooooboobooooo
gooboboooooboooobboooon function(O O OOO0OO
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// 0000
/7

double function(double x){
double y;

y=f (x) *g (x)+ (£ (x)+tan(x)) /(g(x)+tan(x));

return y;

}

—
()
~

goooogoog
gbooooogoo
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//

// £(x)

//

double f(double x){
double y;

y = x*x + sqrt(x) + x + sin(x) + cos(x);

return y;

}

/7

/1 g(x)

/7

double g(double x){
double y;

y = x*x - sqrt(x*sin(x)) - 2*%x - sin(x) + 4xcos(x);

return y;

}

2.3 voidOUOOU

00000000000000O00vidO000000000 vid0OO0O0O0,000,000000
00000000000000000000000O000000000000000000 200000
000000000000 writefile() 00(1)00000000(R2)000000000(3)000000
00000000000

OO0 2:voidOOOODOOO

#include <stdio.h>

void write_file(void); // 00000000

int main(void){

write_file (); // 00000

void write_file (void){
FILE xfuga;

fuga = fopen(” hello.txt”, "w”); // 00o0o0oooooao
fprintf (fuga, ”Hello World !!!\n”); // 0000000000

fclose (fuga); // 000000000
}
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[00 2 0000000000O0000
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